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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define financial management and explain its basic 

functions.  

foŸkh; izcU/k dks ifjHkkf”kr dhft, vkSj blds vk/kkjHkwr 

dk;ks± dh O;k[;k dhft,A  

2. What is the concept of ‘operating cycle’ ? How is it 

important in working capital management ? Explain 

with suitable example.  

^ifjpkyu pØ* dh vo/kkj.kk D;k gS \ ;g fdl izdkj 

dk;Z’khy iw¡th ds izcU/ku esa egRoiw.kZ gS \ mi;qDr mnkgj.k 

ls le>kb,A  

3. The Balance Sheets of A Limited as at December, 

2012 and 2013 are as under :  

 2012 

(`) 

2013 

(`) 

Assets :   

Building  40,000 60,000 

Plant and Machinery  2,50,000 4,00,000 

Stocks  50,000 37,500 

Debtors  75,000 80,000 

Cash  10,000 10,000 

Total Assets 4,25,000 5,87,500 
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Liabilities and Capitals :   

Share Capital  2,50,000 3,50,000 

Profit & Loss A/c 50,000 80,000 

General Reserve  25,000 35,000 

Sundry Creditors  76,500 95,000 

Bills Payables  20,000 25,000 

Outstanding Expenses 3,500 2,500 

Total Liabilities and Capitals 4,25,000 5,87,500 

Additional Information : 

(i) ` 25,000 depreciation has been charged in plant 

and machinery during the year 2013. 

(ii) A machinery was sold for ` 4,000 during the year  

2013. It had cost ` 6,000 and depreciation ` 3,000 

been provided on it.  

Prepare funds flow statement and schedule of changes 

in working capital.  

,- fy- dk 31 fnlEcj o”kZ 2012 ,oa 2013 dks lekIr gksus 

okys o”kZ ds vkfFkZd fpV~Bs fuEuor gSa % 

 2012 

(`) 

2013 

(`) 

lEifŸk;k¡ %   

Hkou 40,000 60,000 

Iyk.V ,oa e’khujh 2,50,000 4,00,000 

LdU/k 50,000 37,500 

nsunkj  75,000 80,000 

jksdM+ 10,000 10,000 

dqy lEifŸk;k¡ 4,25,000 5,87,500 
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nkf;Ro ,oa lEifŸk;k¡ %   

va’k iw¡th  2,50,000 3,50,000 

ykHk ,oa gkfu [kkrk  50,000 80,000 

lkekU; lap; 25,000 35,000 

fofo/k ysunkj  76,500 95,000 

ns; fcy  20,000 25,000 

vnŸk O;; 3,500 2,500 

dqy nkf;Ro ,oa lEifŸk;k¡ 4,25,000 5,87,500 

vfrfjDr lwpuk,¡ % 

(i) o”kZ 2013 esa Iyk.V ,oa e’khu ij ` 25]000 kl 

yxk;k x;k gSA  

(ii) o”kZ 2013 esa ,d e’khu ` 4]000 esa csph x;hA bldh 

ykxr ` 6]000 Fkh vkSj bl ij ` 3]500 kl dkVk tk 

pqdk FkkA  

dks”k izokg fooj.k ,oa dk;Z’khy iw¡th eas ifjorZu dh vuqlwph 

cukb,A 

4. The following figures are available for two successive 

years from the records of a company :  

 Year 1 

(`) 

Year 2 

(`) 

Sales  3,00,000 3,60,000 

Fixed Costs  90,000 1,20,000 

Variable Costs  1,50,000 2,16,000 
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Calculate : 

(i) Profit value ratio  

(ii) B. E. P.  

(iii) Margin of safety and its ratio  

,d dEiuh ds vfHkys[k ls nks lEcfU/kr o”kks± ds fy, 

fuEukafdr vk¡dM+s miyC/k gSa % 

 o”kZ 1 

¼`½ 

o”kZ 2 

¼`½ 

foØ; 3,00,000 3,60,000 

fLFkj ykxr 90,000 1,20,000 

ifjorZu’khy ykxr 1,50,000 2,16,000 

x.kuk dhft, % 

(i) ykHk&ek=k vuqikr  

(ii) le&foPNsn fcUnq  

(iii) lqj{kk mikUr rFkk mldk izfr’kr vuqikr 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the basic characteristics of a financial plan.  

foŸkh; ;kstuk dh vk/kkjHkwr fo’ks”krkvksa dh O;k[;k dhft,A  
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2. Explain the various sources of working capital finance 

in India.  

Hkkjr esa dk;Z’khy i¡wth foŸk ds fofHkUu lzksrksa dks le>kb,A  

3. Critically examine the essentials of a sound dividend 

policy.  

,d lqfLFkj ykHkka’k uhfr ds vko’;d rRoksa dk 

vkykspukRed ijh{k.k dhft,A  

4. X Limited has issued 2000 equity shares of ` 100 each 

fully paid. The company has earned a profit of  

` 20,000 after tax. The market price of these shares is  

` 160 per share. The company has paid a dividend of  

` 8 per share. Find out the cost of equity share capital.  

,Dl fyfeVsM us ` 100 okys 2000 lerk va’k iw.kZ pqdrk ds 

:i esa fuxZfer fd, gSaA dEiuh us dj ds ckn ` 20]000 dk 

ykHk dek;k gSA bu va’kksa dk cktkj ewY; ` 100 izfr va’k 

gSA dEiuh us ` 8 izfr va’k ykHkka’k ds fn, gSaA lerk va’k 

iw¡th dh ykxr Kkr dhft,A  

5. Calculate Average Collection period from the 

following information :  

 ` 

Total sales  1,50,000 

Cash sales  30,000 

Sales returns  10,500 

Total Debtors (Closing) 13,500 

Total Receivables (Closing)  3,000 
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fuEufyf[kr lwpuk ls vkSlr olwyh vof/k dh x.kuk  

dhft, % 

 ` 

dqy foØ; 1,50,000 

udn foØ; 30,000 

foØ; okilh 10,500 

dqy nsunkj ¼vfUre½ 13,500 

dqy izkI; fcy ¼vfUre½ 3,000 

6. Explain with example the pay-back period and present 

value methods of Capital Budgeting.  

iw¡th ctVu ds is&cSd ihfj;M ,oa orZeku ewY; fof/k;ksa dks 

mnkgj.k lfgr le>kb,A  

7. Discuss briefly common techniques of inventory 

control.  

LdU/k fu;a=.k dh lkekU; rduhdksa dks la{ksi esa le>kb,A  

8. Differentiate between Gross and Net working capital.  

ldy ,oa ‘kq) dk;Z’khy iw¡th esa vUrj Li”V dhft,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative :  

lgh fodYi pqfu, % 

1. The excess of current assets over current liabilities is 

called :  

(a) net current assets  

(b) working capital  

(c) net working capital  

(d) All of the above  

pkyw nkf;Roksa ij pkyw lEifŸk;ksa dk vkf/kD; fuEufyf[kr esa 

ls D;k dgykrk gS \ 

¼v½ ‘kq) pkyw lEifŸk;k¡ 

¼c½ dk;Z’khy iw¡th   

¼l½ ‘kq) dk;Z’khy iw¡th 

¼n½ mi;qZDr lHkh  

2. If the inventory  turnover ratio has decreased from 

past, it means that :  

(a) Inventory is growing   

(b) Inventory is dropping  

(c) Inventory is growing or sales are dropping  

(d) None of the above  
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;fn LdU/k vkorZ vuqikr foxr vof/k dh rqyuk esa de gqvk 

gS] rks bldk vFkZ gS fd % 

¼v½ LdU/k eas o`f) gks jgh gS 

¼c½ LdU/k eas deh gks jgh gS 

¼l½ LdU/k eas o`f) gks jgh gS ;k foØ; de gks jgk gS  

¼n½ mi;qZDr esa ls dksbZ ugha  

3. Which one of the following is not a part of money 

market securities ? 

(a) Commercial paper  

(b) Certificate of deposit  

(c) 5 years public deposit  

(d) Call money  

fuEukafdr esa ls dkSu&lk eqnzk cktkj izfrHkwfr;ksa dk Hkkx ugha 

gS \ 

¼v½ okf.kfT;d i= ¼dkWef’kZ;y isij½ 

¼c½ tek izek.ki= 

¼l½ ik¡po”khZ; lkoZtfud tek  

¼n½ ek¡x ij eqnzk  

4. In ABC analysis, ‘C’ class items require :  

(a) Tight control  

(b) Loose control 

(c) Moderate control 

(d) None of these  
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,- ch- lh- fo’ys”k.k esa ^lh* Js.kh dh enksa gsrq fuEufyf[kr esa 

ls D;k vko’;d gksrk gS \ 

¼v½ dBksj fu;U=.k 

¼c½ mnkj fu;U=.k 

¼l½ e/;e fu;U=.k 

¼n½ buesa ls dksbZ ugha  

5. High proportion of gearing increases : 

(a) Financial risk  

(b) Business risk 

(c) Cost of funds  

(d) Shareholders’ equity  

iw¡th feyku ¼fx;fjax½ dk mPp vuqikr o`f) djrk gS % 

¼v½ foŸkh; tksf[ke esa  

¼c½ O;kolkf;d tksf[ke esa 

¼l½ dks”kksa dh ykxr esa  

¼n½ va’k/kkfj;ksa dh lerk esa  

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

6. Meaning of ‘Fund’ is working capital.  

^dks”k* dk vk’k; dk;Z’khy iw¡th gSA  

7. Cost of capital is similar to IRR.  

iw¡th dh ykxr vkbZ- vkj- vkj- ds leku gksrh gSA  
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8. Financial structure consists of equity, long-term debt 

and also current liabilities.  

foŸkh; lajpuk esa lerk] nh?kZdkyhu _.k ,oa pkyw nkf;Ro 

Hkh lfEefyr gksrs gSaA  

9. To improve liquidity dividend payment can be 

reduced.  

rjyrk esa lq/kkj ds fy, ykHkka’k Hkqxrku dks de fd;k tk 

ldrk gSA  

10. Earning Per Share (EPS) is calculated on equity shares 

only.  

izfr va’k vk; ¼bZ- ih- ,l-½ dh x.kuk dsoy lerk va’kksa ij 

dh tkrh gSA  
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